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NMSSM Higgs Model and Selection

Parameter Value Scalar Mass [GeV] Decay BR [%]

λ 0.3 a1 10.3 h1 → 2a1 85.4

κ 0.1 h1 91.6 h1 → bb̄ 11.9

Aκ 11.6 h2 124.5 h1 → τ+τ− 1.2

mA 465 GeV a2 465.2 a1 → τ+τ− 73.2

tan β 3.1 h3 469.2 a1 → 2g 22.3

µeff 165 GeV H± 465.7 a1 → cc̄ 3.1

Analysis Selection

� Require two muons with pt > 1 GeV (using MC truth PID for now)

� Reconstruct Z → µ+µ− and calculate recoil mass

� Require reconstructed Z mass within 3σ

� Require four tracks in recoil

� Require zero charge in recoil

� Veto best a1(1260) candidate (main background is ZZ → µ+µ−τ1−prτ3−pr)
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Best a1(1260) Candidate
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Recoil Mass Fit Before Cuts

Recoil Mass [GeV]
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Recoil Mass Fit After Cuts

Recoil Mass AC [GeV]
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